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D

SECTIONA

This section contains 19 questions. Each question
carries 1 mark.

Fill the blanks so as to make each of the following

statements true:

1.  Matter can neither be created nor be destroyed.
It is called the law of __

2.  Reaction of carboxylic acid with alcohol in
presence of acid catalyst forms

3. is sudden random
change in genetic material of the cell.

4. Gaseous exchange occurs in
of lungs
State weather the following statements are
true or false:

5.  The molecular formula of formaldehyde is
HCHO.

6. By concave mirror, convex mirror and plane
mirror real image can be obtained.

7.  Thyroxin hormone is secreted by adrenal

gland.

Chose the correct option and write it with answer

from those given below multiple choice questions:

8.

10.

Which element finally fit into the blank space
of Mendeleev’s periodic table which was
originally left blank for the predicted eka-
aluminium element?

(2) Gallium

(4) Argon

Which optical phenomenon is responsible for

(1) Scandium

(3) Germanium

the rainbow formation?
(1) Tyndall effect

(2) Dispersion

(3) Atmospheric refraction
(4) Scattering of light

Which of the following is primary sex organ
present in male?

(1) Testis
(3) Vas deference

(2) Prostate gland

(4) Seminal vesicles
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Match the following :
1. |Cabbage |a.

Selection for large
sized leaves
Selection for fleshy
terminal buds and
short distance

2.|Kale b.

between the leaves

3. |Nephron |c. |Unit of nervous

system
Excretory unit of
kidney

(1) 1-a, 2-b, 3-c, 4-d

(2) 1-b, 2-a, 3-d, 4-c

(3) 1-c, 2-b, 3-d, 4-a

(4) 1-d, 2-c, 3-b, 4-a

4. |Nerve cell|d.

Answer the following questions as directed:

12.

13.

14.

15.

16.

17.
18.

19.

Which element has total three orbits and four
electrons in its valence orbit?

Name the device that helps to maintain a
potential difference across a conductor.

Name any two gases which are present in bio
gas.

Differentiate between pulmonary and systemic
circulation

Name the connecting link between reptiles and
aves.

Explain the importance of pH in soil.

Give scientific explanation: Copper is used to
make hot water tanks and not steam.

State the achievements (merits) of Mendeleev’s
periodic table.

OR
Explain the variations of atomic radii in a

period moving left to right.
SECTION -B

This section contains 9 questions. Each question
carries 2 mark.

20.

How food web is different than food chain ?
Explain with example.

OR

Describe gaseous exchange in plants.
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21. What is speciation? Name the factors that
lead to speciation.

22. Write the uses of spherical mirror?

23. Why are coils of electric toasters and electric
irons made of an alloy rather than a pure metal?

OR

State the characteristics of parallel combination
of resistors.

24. Write properties of magnetic field lines of a
bar magnet.

25. Why does menstruation occur?
26. How sex determination occurs in humans?
OR

A student observed tiny pore on slide of lower
epidermis of leaf. Identify that structure and
describe its importance for plants.

27. Recognize the oxidised substances and
reduced substance in the following reactions :

(a) 4Na(s) + O,(g) — 2Na,O(s)

(b) CuO(s) + H,(g) — Cu (s) + HO(g)

(c) 2PbO(s) + C(s) — 2Pb (s) + CO, (g)
28. Answer the following questions :

(a) Write three points of difference between
metals and non-metals on the basis of
chemical properties.

(b) Give scientific explanation: Aluminium is
highly reactive metal, yet it is used to make
utensils for cooking.

OR

Answer the following questions :

(a) How can the corrosion of the iron be
prevented?

(b) Give three examples of corrosion.
SECTION C
This section contains 8 questions. Each question
carries 3 marks.

29. What are variations? Distinguish between

germinal and somatic variations.

30. (a) In particular food chain if producer
produces 25000 kcal energy than what
amount of energy is available to third tropic
level of organism of that food chain.

(b) Write harmful effects of ozone depletion.
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32.

33.

34.

35.

(a)

(b)

36.
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Draw well labeled structure of flower with
germinating pollen tube. Describe functions
of reproductive parts of flower.

OR
Describe physiology of excretion.

Draw the ray diagram for the image formation
by a convex lens, when object is placed
between F, and optical center O. State the
position, nature and size of the image.

OR

A spherical mirror is to be used to form, on a
screen 5.00 m from the mirror, an image five
times the size of the object. (a) Describe the
type of mirror required. (b) Where should the
mirror be positioned relative to the object?

Two resistors R, and R, are combined parallel
in the circuit. The magnitude of R, and R, are
15Q and 30Q respectively. They are connected
with 6 V battery. Calculate: (a) total resistance
of the circuit, (b) total current of the circuit,
(c) electric current passing through the 30Q

resistor in the circuit.

What are the environmental consequences of
the increasing demand for energy? What steps
would you

suggest to reduce energy

consumption?

Answer the following questions :

State the reaction of Sodium carbonate and
sodium hydrogen carbonate with dilutee
hydrochloric acid and write their balanced
equations.

Which products are obtained on passing carbon
dioxide in less proportion and in more
proportion in solution of calcium hydroxide?
State the solubility of products in water.

OR
Write the preparation of baking soda and its
four uses.
What is functional group? State any four

functional groups. Give two examples of each.
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SECTIOND

This section contains 3 questions. Each question

carries 4 marks.

37.
38.

39.

Explain process of digestion in humans.

What is dispersion of white light. Explain the
phenomenon of formation of rainbow in the
sky with the diagram.

What is overloading. State three factors which
are responsible for overloading in domestic
electric circuits. What precautions should be
taken to avoid the overloading?

OR
Draw a labeled diagram of an electric motor.

Explain principle and working of an electric
motor?
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